DA2FE

NEIESDIEE
E Rl iR

FPRROBRFIRESIREXTRER




T Bk 5

L=

60

50

40

30

20

10

LA HERS

5>
ik
ﬂf
0t
S
&
S
)

Vrlay ¥ _ ~

\‘/'.)Q

X \]
[ YT Mm.m‘

eﬁ.

—— R RFE
—— K5
—— 5T
=01 EN
—o— BT
- T IR
—-—F =
e (D 1]




RRFBRICRDIREEEZRKR
(—RXRAER FEEHERT)

ZBIEZEZR(NO,) R IR E (SPM) FALFEFF A4 ROy)
HEHED SEZD REX4(Z REDNH
wg | FTHIE 4 [ =4 FFEHE 2%5@% EF‘aﬁEliFi}JﬁE’C* ST %2 BlTd == 1 FEE e
98%fiE X1 - 0.10mg/m°H 2B KL L FEH(E FEHIE X3
) EHL-CEDEE :
ppm mg/m® R# | B8 ppm
R2 0.010 0.025 O 0.017 0.043 = O O 0.035 0.050 X
R1 0.011 0.023 O 0.016 0.039 i O @) 0.034 0.050 X
H30 0.011 0.026 O 0.019 0.05 = O @) 0.034 0.050 X
H29 0.013 0.025 O 0.017 0.037 i O @) 0.035 0.051 X
H28 0.014 0.028 O 0.016 0.036 i O O 0.033 0.050 X
H27 0.014 0.027 O 0.022 0.047 i O @) 0.034 0.049 X
H26 0.015 0.028 O 0.023 0.054 = O @) 0.033 0.050 X
H25 0.016 0.032 O 0.022 0.063 i O @) 0.030 0.046 X
H24 0.016 0.033 O 0.020 0.044 i O @) 0.031 0.046 X
H23 0.016 0.032 O 0.021 0.047 i O O 0.030 0.046 X

X1 ZERE B R OFHE A AL B 0O FRI8%E (FRID B FHENSBRIEEDIEL A A SEZ TI8Y%) H30.06ppml FTHDHZE
X2 R F IR E DA A %O G HIEHED (3T R TO HEHEA0.10me/m* LU T T1EFRIEH0.20me/m*LL R THADZ &
CEHASHED (X B FHE2% R H0.10me/m* LA FTHY .. Hh 2. ERMEELTHFHEN0.10me/m Z# % 2 HA2H L EE#H LA &
X3 HIEFEA XA U LDEHE A E I B (5~208%) D 1FEEEH0.06ppm L FTHHZE
X4 BREEE, FRISEHNSFESEETELS,
HE: HE)NBER—LR— (KR ELEHERER)




KRB EITIRDIRIEREEZERMIRR
(BFEHEARAER AFBEAE)

S Witk &

ZERIEZER(NO,) FE IR E (SPM) NI E(PM2.5)
—_ BEHD R By ERAEYIET I _—_ BEHED |
ﬂzr‘-‘i— ﬂE:FigﬁE EFEﬁgS%ﬂE —;1& ﬂ:—:l:t’*JﬂE 2%"%% 0 10 H 3 § . J: u:HﬂﬁXZ ﬂE:FigﬁE ﬂEFEﬁgs%ﬁE n;{ﬁx:;
X1 : rgg/m_ﬁ 2H uﬂ
ppm mg/m® EfLIzCEDRR KHA | 55 HA Ug/m REA | 55 HA
R2 0.017 0.032 O 0.018 0.042 i3 @) O 9.1 23.8 O @)
R1 0.017 0.030 @) 0.017 0.043 i @) @) 9.8 25.9 @) O
H30 0.018 0.032 O 0.018 0.052 i3 @) O 11.3 30.5 O @)
H29 0.018 0.032 O 0.018 0.038 i3 @) O 11.9 26.6 O @)
H28 0.02 0.034 O 0.018 0.042 i3 @) O 11.7 25.9 O @)
H27 0.021 0.035 @) 0.024 0.070 i @) X 13.7 33 @) O
H26 0.023 0.036 O 0.025 0.059 i3 @) O 14.8 38.2 O X
H25 0.023 0.037 O 0.020 0.056 i3 O X 14.6 36.6 O X
H24 0.025 0.040 O 0.024 0.050 i3 @) @) - - — -
H23 0.024 0.039 @) 0.027 0.060 i3 @) O — — — —

X1 ZEHRIEBEROREBEREEDIE A AT B FHDEREISHE (FRD B FHEMNSHIEMEDENAMNSEZ TI8%) H0.06ppmA T THA L
X2 BHHFIRYE DIBEEEDMA EDSEETE (FT X TH B FEHEA0.10mg/m* LU T T1EFREEA0.20me/m* LA T THAHZ &
CREASEMM> (% B F1{E2%BRINHY0.10mg/m* L FTHY . M2, ERIZE L THEHEN0.10mg/m* 282 5 HA2H LI EEH LN &
X3 PM2.5DIBBEEHE ) STl 75 5% (S < REASTHED (T EF A5 p g/ m* U FTHAHE
SEHEHE (ZERMICH =2 B FHEDSL. ERE98HEASS 1 g/m U TFTHIE
HE: | BR—LR—(KRFLERERER)
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) T 7B R A S (1)

taplIES - PN 3 AR JI
B AT i BT () BARAIERT (S L
K H © $m 6H17H | 10H1H [ 12H7H |3H11H Ty 6 17H | 10H1H [ 12H7H |3H11H Ty
B K B ) — 11:20 11:30 12:00 11:30 11:00 11:05 11:20 11:10 -
R A - - A = s HEF - HEF = HEf s =
Ui (m3/sec) - - - - - - - - 0.036 — 0.036
Sk ) - 29.5 20.5 14.1 13.2 19.3 27.2 20. 2 12.4 16.0 19.0
K i o - 24. 0 21.1 15.3 13.0 18. 4 24. 2 21.1 14. 0 14. 1 18. 4
4 4H — - MesE | WAk | BAaE | s - S vEt | D W KA B S W K | 5505 B -
& - - A4 E LA A TR R M 5 e 5 - e 5L AL TE B e 5 e 5 -
375 {5 B (em) - >100 >100 >100 >100 100 64 >100 78 >100 86
p H - 6.5~8.5 8.1 8.6 7.8 8.6 8.3 7.9 7.9 7.8 7.9 7.9
Ak E e S B R B (BOD) (mg/1) =5 1.4 1.4 4.1 3.6 2.6 3.0 3.9 5.4 6.9 4.8
{b = P 3 25 SR B (COD) (mg/1) - 3.2 3.7 5.0 6.2 4.5 3.8 5.0 5.9 6.8 5.4
T S B (SS) (mg/1) =50 <1 <1 5 3 3 7 1 3 3 4
BAFEZEE (DO) (mg/1) =5 11.3 13.0 8.4 14.9 11.9 9.3 8.4 10. 0 11.3 9.8
N A (MPN/100m1) - - - 11, 000 - 11, 000 - - 7,900 - 7,900
N—~2% 0 > fh HH Y B & (mg/1) - <0.5 <0.5 <0.5 <0.5 0.5 <0.5 <0.5 <0.5 <0.5 0.5
U o (T-P) (mg/1) - 0.160 0.170 0.180 0. 230 0.185 0. 180 0. 250 0. 220 0. 380 0. 258
22 3% (T-N) (mg/1) - 4.1 4.6 4.9 4.9 4.6 2.4 4.5 5. 1 5.5 4.4
4= il ffy (mg/1) 0.03 — - — - - - — 0.003 — 0. 003
J =)L 7 = J—Jb (mg/1) 0.002 - - - - - - - <0. 00006 - <0. 00006
—— - ——
iy CT (mg/1) 0.05 - - - - - - - 0. 076 - 0.08
B EI UL (mg/1) =0.003 - - - - - - — <0. 0003 - <0. 0003
e T (mg/1) B E e & - — — — - - - <0.1 - <0.1
I (mg/1) =0.01 - - - - - - - <0. 005 - <0. 005
FAll 2 2 (mg/1) =0.05 - - - - - - - <0.02 - <0. 02
At 37 (mg/1) =0.01 — — - - — - - <0. 005 - <0. 005
HR K SR (mg/1) =0.0005 - - - - - — = <0. 0005 - <0. 0005
7 L X LK ER (mg/1) mibEhzmwnwo s — - — — — — — — — —
PCB (mg/1) M Ehzewnwe & - - - - - - - - - —
KU Zooxog L (mg/1) =0.01 — - - - - - — — - —
FhSrZuoxxF L (mg/1) =0.01 - - — - - - - - - -
A= R= .S S (mg/1) =0.02 - - - - - - - - - -
PER(AES (mg/1) =0.002 - - - - - - - - - -
1,2-V 7 muax X (mg/1) =0.004 - - - - - - - - - -
vi—l, 2=V ZmwunxzF L (mg/1) =0.04 - - - - - - - - - -
L1-YZuauaxzF L (mg/1) =0.1 - - - - - - - - - -
1,1,1-hrV 7w x X (mg/1) =1 - - - - - - - - - -
1,1,2-hYV o X (mg/1) =0.006 - - - - - - - — — —
1,3-Y 7 o~y (mg/1) =0.002 - - - - - - - - - -
FZ TN (mg/1) =0.006 - - - - - - - - - -
DA (mg/1) =0.003 - - - - - - - - - -
T AR T (mg/1) =0.02 - - - - - - - - - -
R iV (mg/1) =0.01 - - - - - - - - - -
L (mg/1) =0.01 - - - - - - - - - -
EES (mg/1) =1 - - - - - - - <0.02 - >0. 02
N (mg/1) =0.8 - - - - - - - <0.08 - >0. 08
A P M aE SR N OVl 8k % R (mg/1) =10 3.6 3.9 4.2 4.2 4.0 1.6 3.7 3.6 3.3 3.1
o il P T A2 3R (mg/1) - 0. 08 0.16 0.17 0.27 0.17 0. 06 0.18 0.18 0.23 0.16
il P 1 a2 3R (mg/1) - 3.6 3.8 4.1 4.0 3.9 1.6 3.6 3.5 3.1 3.0
1,4- A X9 (mg/1) =0.05 — — — — — — — —
P =V -t (mg/1) - 0.25 0.21 0.17 0. 46 0.27 0.33 0.42 0.65 1.2 0.65




AFn 2 AR

A1) 1 7B R A A (2)

plIES e 4 9 5 JII

BR A 5 7 - PR () It GO

Bk H © s 61710 [ 1010 | 123780 | 3A11H T 6H17H [ 1081Hd [ 12H7H |3H11H T
R K B ) T 11:35 11:55 13:05 11:50 - 12:10 12:35 13:00 12:45 -
PN(ZS - - i3 = i i - i3 = i3 i3 -
i b (m3/sec) - - - - - - - - 0.32 - 0.32
S (@) - 28.8 21.2 16.0 16.0 20.5 28.6 24. 6 16.2 14. 6 21.0
7K it (D) - 23.7 19.5 13.5 14. 5 17.8 26. 8 21.0 14.5 17.5 20. 0
A - - S 3w | MEfGHY] | ] | MEaE ] S vvigtal MEHI] [ D WIKEA ] D WK E -
5L - = ug 53 dug 5 g B dug 5 = ug 53 i 5. Ry g 53, -
375 (em) - >100 >100 >100 >100 100 49 >100 77 43 67.3
p H - 6.5~8.5 7.9 8.1 8.1 8.0 8.0 8.1 8.5 8.1 8.3 8.3
Ak IE 3R 2R & (BOD) (mg/1) =5 1.3 1.0 2.1 3.6 2.0 2.0 1.1 2.4 4.6 2.5
b= 58 35 SR & (COD) (mg/1) - 2.4 2.6 3.3 4.0 3.1 4.2 3.4 4.6 7.2 4.9
2 WEW) B B (SS) (mg/1) =50 3 <1 <1 1 2 3 2 1 2 2
BArEEE (DO) (mg/1) =5 8.7 9.2 10. 1 11.3 9.8 11.1 11.7 11.9 12.3 11.8
KN B A (MPN/100m1) - - - 2, 800 - 2, 800 - - 230 - 230
N-~FH%  HhiH'E & (mg/1) - <0.5 <0.5 <0.5 <0.5 0.5 <0.5 <0.5 <0.5 <0.5 0.5
U > (T-P) (mg/1) - 0. 140 0.130 0. 160 0.230 0. 165 0.130 0. 200 0.300 0. 440 0. 268
223 (T-N) (mg/1) - 3.1 4.2 4.8 5.0 4.3 1.3 5.0 5.8 6.0 4.5
2 (mg/1) 0.03 - - - - - - - 0.002 - 0.002
) =)L T = ) —JL (mg/1) 0.002 — - - - - - - <0. 00006 - <0. 00006
%i‘g%’“”’“’””m (mg/1) 0.05 - - - - - - - 0.0052 - 0. 005
NN (mg/1) =0.003 - - - - - - - <0.0003 - <0. 0003
BT (mg/1) B Eshnzwnws & - - - - - - - <0.1 - <0.1
n (mg/1) =0.01 — - - - - - - <0. 005 — <0. 005
AN I| A=A (mg/1) =0.05 — — - - — — - <0.02 - <0.02
At (mg/1) =0.01 - - - - - - - <0.005 - <0. 005
T K R (mg/1) =0.0005 - - - - - - - <0. 0005 - <0. 0005
T L L IKER (mg/1) BHEhZzwo & - - - - - - - - - -
PCB (mg/1) BHEShpwnwz & - - - - - - - - - -
rVZooxF L (mg/1) =0.01 — — — — — — — — — —
Al A A== 0=l (mg/1) =0.01 - - - - - - - - - -
D A=R= . S (mg/1) =0.02 - - - - - - - - - -
DU Ak 5 S (mg/1) =0.002 - - - - - - - - - -
1,2V xX (mg/1) =0.004 - - - - - - - - - -
vA-l, 2=V 7 xF L (mg/1) =0.04 - - - - - - - - - -
L1-YZuuaxF L (mg/1) =0.1 - - - - - - - - - -
Lil,l-hrVrmmxz (mg/1) =1 - - - - - - - - - -
L1,2-hFYVZoux X (mg/1) =0.006 - - - - - - - - - -
1,3-Y 7 aua o~ (mg/1) =0.002 - - - - - - - - - -
FZ TN (mg/1) =0.006 - - - - - - - - - -
TV (mg/1) =0.003 — — — — — — — — — —
FAXINNT (mg/1) =0.02 - - - - - - - - - -
O (mg/1) =0.01 - - - - - - - - - -
P (mg/1) =0.01 - - - - - - - - - -
EES (mg/1) =1 - - - - - - <0.02 - 0.02
N (mg/1) =0.8 — — - - - - - <0.08 - <0.08
o) P 1 5 S e N i 1 4 38 (mg/1) =10 2.6 4.0 4.1 4.6 3.8 0.91 4.7 5.0 5.3 4.0
o Y P I 22 SR (mg/1) - 0. 06 0. 07 0.10 0.11 0.1 0.05 0.12 0.16 0. 20 0.1
i P 1 A 3R (mg/1) - 2.6 4.0 4.0 4.5 3. 8 0.9 4.6 4.90 5.1 3.9
1,4- A %W o (mg/1) =0.05 - - - - - - - - - -
T =T PEEE R (mg/1) - 0.07 0. 06 0.43 0. 38 0.24 0.06 0.06 0.22 0.36 0.18
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AL A (3)

tMAIES o y ER I

A T - R (E% I 16 T 0 R I A

K H C Him 6H17H [10A1H [ 12A7H |3A11H 1 6 17H | 10A1H | 12A7H |3A11H T
7 FHR - >
B K EE A 12:20 12:30 13:25 12:15 12:30 13:05 13:25 13:10

K e - - AEf AEE AEE H - H H i A -
it (m3/sec) - - - - - - - - 0. 051 - 0. 051
SR o - 26. 8 22.0 14.1 13.0 19.0 27. 1 26. 0 16.5 14.9 21.1
IR [((6)) - 25.5 21.0 12.0 11.0 17. 4 26.8 22.0 13.5 16. 1 19. 6
4 FH - - STV | STk [BHDSWIKA] D F ek - 5T WA S WK A D WK E] S v -
N - - e [ PE A e A M R - e 5L e 5L 5L i 5L -
75 1L (cm) - >100 88 34 >100 80. 5 55 70 49 40 54
p H - 6.5~8.5 8.4 9.4 8.6 9.8 9.1 7.8 7.8 7.8 8.2 7.9
AWML R E SR B R A (BOD) (mg/1) =5 1.3 1.7 3.0 3.4 2.4 2.1 1.5 6.0 7.5 4.3
bRyl SR 2R B (COoD) (mg/1) - 3.0 5.1 4.9 8.0 5.3 4.3 5.4 6.7 8.2 6.2
Y B B (SS) (mg/1) =50 3 2 3 4 3 1 7 3 5 4
BAresEE (DO) (mg/1) =5 9.5 13. 1 12.5 18.3 13. 4 8.1 7.7 11.0 13.4 10. 1
KNG B B 2K (MPN/100m1) - - 490 - 490 - - 1,100 - 1,100
N—~ Y > i HH e & (mg/1) - <0.5 <0.5 <0.5 <0.5 0.5 <0.5 <0.5 <0.5 <0.5 0.5
WU (T-P) (mg/1) - 0. 056 0.100 0.120 0. 080 0. 089 0.120 0.110 0.210 0. 190 0.158
fa w3 (T-N) (mg/1) - 1.2 3.3 3.8 4.3 3.2 1.6 2.6 4.8 3.5 3.1
4= Al g (mg/1) 0.03 - - - - - - - 0. 003 - 0.0030
J =T = ) —)L (mg/1) 0.002 - - - - - - - <0. 00006 - <0. 00006
g?&;gzzw\/t/wa*/Wﬁz (mg/1) 0. 05 - - - - - - - 0.01 - 0.010
7 R v (mg/1) =0.003 — — — — — — — <0. 0003 - <0. 0003
BT (mg/1) M Ehnzpwvws & - - - - - - - <0.1 - <0.1
A (mg/1) =0.01 - - — - - - - <0.005 - <0. 005
75l 7 = 2 (mg/1) =0.05 - - - - - - - <0.02 - <0. 02
it 38 (mg/1) =0.01 - - - - - - - <0. 005 - <0. 005
B KGR (mg/1) =0.0005 - - - - - - - <0. 0005 - <0. 0005
T L LK ER (mg/1) M Shiewn o & - - - - - - - - - -
PCB (mg/1) BiiEhiewnws & - - - - - - - - - -
NI ES (mg/1) =0.01 - - - - - - - - - -
FhS oo F L (mg/1) =0.01 - - - - - - - - - -
D/A=R=S SV (mg/1) =0.02 - - - - - - - - - -
PO M A b B 3 (mg/1) =0.002 - - - - - - - - - -
L,2-YVrZwuu=x X (mg/1) =0.004 - = - - - - - - - -
vi-l,2-VZvuuxTF L (mg/1) =0.04 - - - - - - - - - -

1,1- 7 ouaxF L (mg/1) =0.1 - - - - - - - - — -
L,1,I-hV ooz (mg/1) =1 - - - - - - - - - —
L,1,2-hYZrZvouaxXH (mg/1) =0.006 - - - - - - - - — -

1,3-C 7 o Fa~y (mg/1) =0.002 - - - - - - - - - -
F T UL (mg/1) =0.006 - - - - - - - - - -
T~ (mg/1) =0.003 - - - - - - - - - -
FAS BT (mg/1) =0.02 - - - - - - - - - -
e i (mg/1) =0.01 - - - - - - - - - -
L (mg/1) =0.01 - - - - - - - - - -
EE S (mg/1) =1 - - - - - 0.02 0.02
5o # (mg/1) =0.8 — — - - - - - 0.08 - 0.08
o fiE P P 2 SR N OV s e 22 SR (mg/1) =10 0.97 2.7 2.9 3.5 2.5 0.95 1.7 2.5 1.8 1.7
HE A P e S 3R (mg/1) - <0. 05 0.18 0.15 0.35 0.2 <0. 05 0.10 0.13 0.08 0.1
i P P 22 3R (mg/1) - 0.92 2.6 2.8 3.2 2.4 0.9 1.6 2.4 1.8 1.7

1,4- A F% P (mg/1) =0.05 — — - - - - - —
T e =T EEE (mg/1) - 0. 04 <0.04 0.15 0.10 0.08 0.10 0.65 1.70 0.71 0.79




4Fn 2 AR

AT K AR G L (4)

PPl 551 b5 3 v H ] Il

BRI 5 FIT B fir ) CEwr) Ams x> 7481 (@) A A )1 A

oK H A 6H17H | 10H1H [ 12H7H |3H11H B 6H17H | 10H1H [ 12H7H |3H11H B
K ) o 9:30 9:35 09:50 09:20 5 9:00 9:00 09:00 09:00 "
R - - i = IS IS - ki = ki IS -
Uit B (m3/sec) - - - - - - - - 0.19 - 0.19
SR ) - 22. 1 14. 8 8.2 7.0 13.0 25.8 17.0 9.3 8.0 15.0
K (o)) - 16. 2 15.8 9.2 8.8 12. 5 21.0 17.0 9.8 9.0 14.2
. FH - - e ] | MEfGHR] | MEfGHD] | M M) | MEfGHR] | MEfGHD] | M

AR — = ug 5. g 5. g 5. g 5. - ug 5. g 5. g 5. g 5. -
75 15 (em) - >100 >100 >100 >100 100 >100 >100 >100 >100 100
p H - 6.5~8.5 8.1 7.7 7.9 7.8 7.9 7.9 7.9 7.9 7.9 7.9
AW b SR lE SR SR & (BOD) (mg/1) =2 0.6 0.4 0.1 0.1 0.3 1.0 0.3 0.1 0.7 0.5
bRy ie SR sk B (COD) (mg/1) - 0.6 0.6 0.9 0.4 0.6 1.0 1.1 1.2 0.9 1.1
2 EY) & (SS) (mg/1) =25 <1 1 <1 <1 1 <1 < < < 1
EIriE R E (Do) (mg/1) =7.5 9.9 9.9 11.5 11.9 10. 8 9.4 9.7 11.5 11.9 10. 6
G B BE S (MPN/100m1) =1000 — — 23 - 23 - - 790 - 790
N—~ 2 U il HH 4 B e (mg/1) - <0.5 <0.5 <0.5 <0.5 0.5 <0.5 <0.5 <0.5 <0.5 0.5
WU 2 (T-P) (mg/1) - 0.014 0.009 0.011 0.008 0.011 0.037 0.033 0.033 0.035 0.035
Rz 3 (T-N) (mg/1) - 0. 69 0.72 0. 65 0. 66 0.7 1.5 1.1 1.2 1.3 1.3
4= al 1y (mg/1) 0.03 - - - - - - - <0. 001 - <0.001
) =)V 7 x ) —J)L (mg/1) 0.002 — - - - — — - <0. 00006 - <0. 00006
%ﬁzg;;w\/ E VS . (mg/1) 0. 05 - - - - - - - 0. 0028 - 0. 0028
R L (mg/1) =0.003 - - - - - - - <0.0003 - <0. 0003
BT (mg/1) B Enins & - - - - - - - <0.1 - <0. 1
1 (mg/1) =0.01 — - - - - - — <0. 005 — <0. 005
AN IEZA =2 (mg/1) =0.05 — — - - - — - <0.02 - <0. 02
Ttk 3% (mg/1) =0.01 - - - - - - - <0. 005 - <0. 005
K R (mg/1) =0.0005 - - - - - - - <0. 0005 — <0. 0005
7L X LK ER (mg/1) B Enins & - - - - - - - - - -
PCB (mg/1) T A — - - _ - - - — — —
WA= (mg/1) =o0.01 — — — — — — — — — —
F hS v uaaxTF L (mg/1) =0.01 — — — — — _ — — — —
Trung XK (mg/1) =0.02 — — — — — _ _ _ _ _
DY M Al 5 3 (mg/1) =0.002 - - - - - - - - - -
l,2-Vrvunmx X (mg/1) =0.004 - - - - - - - - - -
vi-l, 2=V xS L (mg/1) =0.04 - - - - - - - - - -
L1-YZuaxF L (mg/1) =0.1 - - - - - - - - - -
L1L,1-hYZrZmouaxX (mg/1) =1 - - - - - - - - - -
L,1,2-hYZrmuaxX (mg/1) =0.006 - - - - - - - - - -

1,3-C 7 g Faly (mg/1) =0.002 - - - - - - - - - -
FZ UL (mg/1) =0.006 - - - - - - - - - -
=T (mg/1) =0.003 - - - - — - — — - —
FAX T (mg/1) =0.02 - - - - - - - - - -
I A (mg/1) =0.01 - - - - - - - - - -
L (mg/1) =0.01 - - - - - - - - - -
EE S (mg/1) =1 - - - - - <0.02 <0. 02
S 3B (mg/1) =0.8 — — - - - - - <0.08 - <0. 08
o A P M S SR N OV e e 22 SR (mg/1) =10 0.73 0.76 0. 68 0. 69 0.72 1.3 1.0 1.0 1.6 1.23
o A P E 22 SR (mg/1) - <0. 05 <0. 05 <0. 05 <0. 05 <0. 05 <0. 05 <0. 05 <0. 05 <0. 05 <0. 05
i P P 2 3R (mg/1) - 0.68 0.71 0.63 0.64 0.67 1.3 1.0 1.0 1.6 1.23
L4->F v (mg/1) =0.05 - - - - - - - - - -
T e =T M (mg/1) - <0. 04 <0. 04 <0. 04 <0. 04 <0. 04 0.04 0. 06 <0.04 0. 04 0. 05




1ok

8%/

SN 2 B

AR AR R (5)

)14 g AL & I
TKEFT W fir [@R) i (Fii) K5 H i (i) SLBRSE i H T i i
BAKH CH 617H [10A1H [ 12A7H |3A11H Ty 6A17H [10A1H [ 12A7H |3A11H Tty 617H [10A1H [ 12A7H |3A11H Tty
BRI 10:05 10:05 10:20 10:05 11:10 11:25 11:40 11:25 9:00 9:00 09:00 09:00 -
PN - - i 2 i i3 - i3 2 i3 i3 - i3 £ i3 i3 -
oo (m3/sec) - - - - - - - 0.2 - 0.2 - - - - -
SR (©) 23. 4 16.0 9.2 7.8 14 24.0 18.8 13.9 10.0 16.7 28.0 17.8 9.1 10.5 6.4
KR ©) - 17.3 15.0 10.0 8.8 12 20.8 18.5 14.0 15.5 17.2 26. 2 18.0 13.2 15.8 18.3
X - - MEEY | WEOFY | BEEY | EAFEY IV | M Ay | MEaEy) [ 6B - DTV [ STV | DTV | H TV -
& - - 5L 5 45 5L - 5 5 5 5 - RS | R | RRER [ FRER -
B HE (cm) - >100 >100 >100 >100 100 >100 >100 >100 >100 100 >100 >100 >100 91 98
pH - 6.5~8.5 7.9 7.8 7.8 7.7 7.8 8.0 8. 1 8.1 8. 4 8.2 7.5 8.0 7.7 7.4 7.7
AW Al 2 R 2R B SR (BOD) (mg/1) <5 0.6 0.5 0.3 0.6 0.5 1.3 0.7 0.7 0.8 0.9 1.6 0.7 0.8 2.5 1.4
(b5 R 2Rk & (COD) (mg/1) - 0.9 1.0 1.3 1.5 1.2 1.4 1.4 1.6 1.8 1.6 7.3 2.0 3.3 6.4 4.8
il E & (SS) (mg/1) =50 <1 <1 <1 <1 1 1 <1 1 1 1 <1 <1 <1 2 2
EirBeF i (DO) (mg/1) =5 9.3 9.6 11.1 10.9 10. 2 9.1 9.7 10.9 11.3 10.3 7.5 9.5 10.7 10.0 9.4
R B A (MPN/100m1) - - 4, 600 - 4, 600 - - 3,300 - 3,300 - - 23 - 23
N-~%H e & (mg/1) - <0.5 <0.5 0.5 <0.5 0.5 <0.5 <0.5 <0.5 <0.5 0.5 <0.5 <0.5 <0.5 <0.5 0.5
BY L (1-P) (mg/1) - 0.026 | 0.059 0.039 0.053 | 0.044 | 0.055 [ 0.041 0.041 0.056 | 0.048 | 1.700 | 0.110 0.510 0.840 | 0.790
e F (1-N) (mg/1) - 0.84 0.85 0.92 1.10 0.93 1.6 1.4 1.5 1.5 1.5 12.0 1.8 4.4 8.6 6.7
iR (mg/1) 0.03 - - - - - - - 0.002 - 0. 002 - - - - -
)N T =) =) (mg/1) 0.002 - - - - - - - <0.00006 - <0. 00006 - - - - -
Eﬁ?yﬁ%wumMMW@ (mg/1) 0.05 - - - - - - - 0.0076 - 0.008 - - - - -
HRIv A (mg/1) =0.003 - - - - - - - <0. 0003 - <0.0003 - - - - -
BT~ (mg/1) B EhRnws & - - - - - - - 0.1 - 0.1 - - - - -
i (mg/1) <0.01 - - - - - - - <0. 005 - <0. 005 - - - - -
XA (mg/1) =0.05 - - - - - - - <0. 02 - <0. 02 - - - - -
e (mg/1) <0.01 - - - - - - - <0. 005 - <0. 005 - - - - -
Hak R (mg/1) <0.0005 B - - - - - - <0. 0005 - <0. 0005 - - - - -
TV x VKR (mg/1) B EhRn L - - - - - - - - - - - - - - -
PCB (mg/1) BiEhinws & - - - - - - - - - - - - - - -
PV ooz F L v (mg/1) =0.01 - - - - - - - - - - - - - - -
FThIF/mmxzFL (mg/1) =0.01 - - - - - - - - - - - - - - -
VA=Y % (mg/1) =0.02 - - - - - - - - - - - - - - -
R ArES (mg/1) <0.002 - - - - - - - - - - - - - - -
L2-vV/uunxy (mg/1) =0.004 - - - - - - - - - - - - - - -
yA-1,2-V/ppxF Ly (mg/1) <0.04 - - - - - - - - - - - - - - -
L,1-PZuuxFL (mg/1) =0.1 - - - - - - - - - - - - - - -
LL,1-tFYZooxz gy (mg/1) =1 - - - - - - - - - - - - - - -
LL,2-hY)smmxcy (mg/1) =0.006 = = - = = - - - = = - - - - -
L,3-Yrunraty (mg/1) =0.002 - - - - - - - - - - - - - - -
F5 A (mg/1) <0.006 - - - - - - - - - - - - - - -
DA (mg/1) =0.003 - - - - - - - - - - - - - - -
FARANT (mg/1) <0.02 - - - - - - - - - - - - - - -
Py (mg/1) =0.01 - - - - - = - - - - - - - = -
L (mg/1) =0.01 - - - - - - - - - - - - - - -
ESES (mg/1) =1 - - - - - - - <0. 02 - 0.02 - - - - -
bok (mg/1) <0.8 - - - - - - - <0. 08 - <0. 08 - - - -
A P 1 52 5 M VR i 52 R (mg/1) <10 0.87 0. 81 0. 90 1.0 0.90 1.3 1.3 1.3 1.5 1.35 10.0 1.7 3.9 8.2 5.95
o B A 2 R (mg/1) - <0. 05 <0.05 <0. 05 <0. 05 0. 05 <0. 05 <0.05 <0. 05 <0. 05 0. 05 <0.05 <0. 05 <0. 05 <0. 05 0. 05
fiF i P % 34 (mg/1) - 0.82 0.76 0.85 1.00 0. 86 1.3 1.3 1.3 1.5 1.35 10.0 1.7 3.9 8.2 5.95
L4-UA %W (mg/1) <0.05 - - - - - - - - - - - - - - -
TUE=THER (mg/1) - <0. 04 0.04 0.04 0.07 0.05 0.04 0.04 0.07 0.05 0.05 0. 08 <0. 04 0.04 0.10 0.07




Z

1ok

(e
%

6

4N 2 AR

T K R ARG S (6)

)44 I & 3 JI

— — I b, 25 1R 5 = < —=

BR K 5 BT A (=) P 1008F HL T [N KR &

Bk H C 5w 6H17H | 1018 | 12H7H [3H11H Sy 6H17H | 1018 | 12H7H [3H11H Sy
£ 7K B | 10:45 10:50 11:05 10:45 09:20 9:35 12:20 09:30

K Ags - - i = i i - i = i i -
Vit (m3/sec) - - - - - — - 0. 045 — 0. 045
SR ) - 23.9 17. 2 9.8 10. 5 15. 26.9 18.0 14. 4 11.8 17.8
R ) - 18. 2 17.0 9.2 8.1 13.1 26. 2 18.3 12.8 11.0 17. 1
el E| - - O uNEE | B | mEGHE] | EAET MEGHE] | Bl | meGE] | EAET —
AR (cm) - >100 >100 >100 >100 100 >100 >100 >100 >100 100
p H - 6.5~8.5 7.9 7.8 7.9 7.8 7.9 8.0 8.2 8.7 9.0 8.5
AW b SR s SR SR B (BOD) (mg/1) =5 0.3 0.9 0.3 1.2 0.7 1.0 1.1 0.5 1.4 1.0
b ie 3% SRk & (COD) (mg/1) - 2.3 3.2 1.8 2.4 2.4 2.1 2.4 2.7 3.4 2.7
R E M e B (SS) (mg/1) =50 3 1 <1 <1 2 <1 1 <1 6 4
EArFE & (DO) (mg/1) =5 8.7 9.3 10.7 11.1 10.0 10.9 9.4 14.0 15.7 12.5
KNG B (MPN/100m1) - - 330 - 330 — 1, 100 — 1, 100
N-~%Y hhH e & (mg/1) - <0.5 <0.5 <0.5 <0.5 0.5 <0.5 <0.5 0.5 <0.5 0.5
WU 2 (T-P) (mg/1) - 0.099 0.120 0. 084 0. 180 0.121 0.094 0.100 0.120 0. 100 0.104
ez (T-N) (mg/1) - 1.8 1.9 1.9 2.6 2.1 1.8 2.2 2.3 1.8 2.0
4 il fy (mg/1) 0.03 - - - - - - - 0.001 - 0.001
) =) T = ) — I (mg/1) 0.002 — - - - - - - <0. 00006 - <0. 00006
R R (mg/1) 0. 05 - - - - - - - 0.023 - 0.023
B KA (mg/1) =0.003 - - - - - - - <0.0003 - <0. 0003
BT (mg/1) B Sh v & - - - - - - - <0.1 - <0.1
|50 (mg/1) =0.01 - - - - - - - <0. 005 - <0. 005
A 7 = 2 (mg/1) =0.05 — - - — - - — <0. 02 — <0.02
itk 37 (mg/1) =0.01 — — - - - — - <0. 005 - <0. 005
K g (mg/1) =0.0005 — — — — - — — <0. 0005 — <0. 0005
TV X L IKER (mg/1) M Shzwnwe & - - - — - - - - - -
PCB (mg/1) B Enzwnwe & - - - - - - - - - -
A = == SR (mg/1) =0.01 — — — — - - — — — -
S hS 7o F L (mg/1) =0.01 - - — — - - — — — -
A== S (mg/1) =0.02 - - - - - - - - - -
VU He Al ok S (mg/1) =0.002 - - - - - - - - - -
1,27 x X (mg/1) =0.004 - - - - - - - - - -
vi—l, 2= Zmux=F L (mg/1) =0.04 - - - - = - - - - =
L,1-Y7rZuaxF L (mg/1) =0.1 - - - - - - - - - -
L,1,I-hV vz X (mg/1) =1 — - - - - - - - — —
1,1,2- YV r7max X (mg/1) =0.006 - - - - - - - - - -
1,3-Y 7 o X~ (mg/1) =0.002 - - - - - - - - - -
FZ L (mg/1) =0.006 - - - - - - - - - -
DA (mg/1) =0.003 - - - - - - - - - -
FA R NT (mg/1) =0.02 - - - - - - - - - -
N (mg/1) =0.01 - - - - - - - - - -
L (mg/1) =0.01 - - - - - - - - - -
[ESlE (mg/1) =1 - - 0.02 <0.02
5o B (mg/1) =0.8 - - - - - - - <0.08 - <0. 08
HE A P MR 2 FE N OV P 42 SR (mg/1) =10 1.5 1.6 1.7 2.6 1.85 1.6 2.0 2.1 1.6 1.83
HE Ay Ee e 22 3R (mg/1) - <0. 05 <0. 05 <0. 05 <0. 05 0.05 <0. 05 <0. 05 <0. 05 <0. 05 0.05
fiY P 1 25 SR (mg/1) - 1.5 1.6 1.7 2.6 1.85 1.6 2.0 2.1 1.6 1.83
1,4-F Y (mg/1) =0.05 — — — — — — — — — —
T =T MR (mg/1) - <0. 04 <0.04 <0.04 <0. 04 <0.04 <0. 04 <0.04 <0.04 0. 06 0.05




/EH/ \Hg

£

]!

A0 2 A EE

T IR ARG 2R (7)

W4 I B 5l I = 55 JI

B T sl s & F I T % W

ek 0 C Jri7 617H |10 1A | 12A7H |[3711H Ty 617H |10 1A | 12A7H |3711H Sy
BE K B | 10:30 10:30 10:45 10:20 12:50 12:50 14:00 12:40 ~
R A - - i3 = i i - i3 I 7 i3 -
Vit B (m3/sec) - - - 0. 04 - 0. 04 - - 0.01 - 0.01
SR (D) - 24.5 18.5 11.8 14.3 17.3 29.6 21.2 14.2 14.5 19.9
K I (D) - 24.5 19. 6 14.3 15. 6 18.5 28.0 21 12.0 13.8 18. 7
Qe - - e | MY | MBI | eSS ] - AN APEAD AEAN S EAN

BR - - e 5L g 5L g L e L - R YRR e L Fit 4 P LA -
75 15 (cm) - >100 >100 >100 >100 100 >100 >100 >100 >100 100
p H - 5~8.5 7.9 8.3 8.2 9.0 8.4 8.9 9.5 8.7 9.6 9.2
Ak B e 3R 2R & (BOD) (mg/1) =5 1.2 1.2 0.7 1.6 1.2 1.6 1.3 1.2 4.7 2.2
b2l 32 2k & (COD) (mg/1) - 2.6 3.1 2.0 3.4 2.8 2.9 4.4 3.5 6.9 4.4
I WE W) L B (SS) (mg/1) =50 3 <1 2 10 4 1 1 <1 5 2
WA R (DO) (mg/1) =5 10. 1 10. 1 11.5 15. 6 11.8 11.5 12.0 12.3 15.3 12.8
N5 B AL (MPN/100m1) - - 3,300 - 3, 300 - - 790 - 790
N—~ 26 il HH i ' (mg/1) - <0.5 <0.5 <0.5 <0.5 0.5 0.5 <0.5 <0.5 <0.5 0.5
3 U > (T-P) (mg/1) - 0. 100 0. 087 0. 089 0.170 0.112 0. 085 0.120 0.120 0. 200 0.131
223 (T-N) (mg/1) - 3.1 4.3 4.5 4.8 4.2 1.7 2.3 3.3 3.6 2.7
AR 8N (mg/1) 0.03 - - 0. 006 — 0. 006 - - 0.001 - 0.001
) =)L T = ) —JL (mg/1) 0.002 - - <0. 00006 - <0. 00006 - - <0. 00006 - <0. 00006
%i;g;‘%w T (mg/1) 0.05 - - 0.009 - 0.009 - - 0.026 - 0. 026
5 K3 7 A (mg/1) =0.003 - - <0.0003 - <0. 0003 - - <0.0003 - <0.0003
T (mg/1) M Shzauns & - - <0.1 - <0.1 - - <0.1 - <0.1
i) (mg/1) =0.01 - - <0. 005 - <0. 005 - - <0. 005 - <0. 005
SNl 2 o 2 (mg/1) =0.05 - - <0.02 - <0.02 - - <0.02 - <0.02
it 3 (mg/1) =0.01 - - <0. 005 - <0.005 - - <0.005 - <0.005
AR $R (mg/1) =0. 0005 - — <0.0005 - <0. 0005 - - <0. 0005 - <0. 0005
7L XL AKER (mg/1) M Shiewnz & - - - - - - - - - -
PCB (mg/1) B EShewnws & - - - — - - — - - —
rUZooxF L (mg/1) =0.01 — — — — — — - — — —
Al VA== =N il Y (mg/1) =0.01 - - - - - - - - - -
D/ A=R= S (mg/1) =0.02 - - - - - - - - - -
DY M Al e % (mg/1) =0.002 - - - - - - - - - -
lL,2-YZunm=x X (mg/1) =0.004 - - - - - - - - - -
e Wt/ A === il P (mg/1) =0.04 - - - - - - - - - -
L1-YZuuoxF L (mg/1) =0.1 - - - - - - - - - -
L1,1-hVrooxX: (mg/1) =1 - - - - - - - - - -
1,1,2- Voo % (mg/1) =0.006 - - - - - - - - - -
1,3-Y 7 auaFua -~ (mg/1) =0.002 - - - - - - - - - -
FZ U A (mg/1) =0.006 - - - - - - - - - -
=T (mg/1) =0.003 — — — — — — - — — —
FAX T NT (mg/1) =0.02 - - - - - - - - - -
I AV (mg/1) =0.01 - - - - - - - - - -
i (mg/1) =0.01 - - - - - - - - - -
(ESIE (mg/1) =1 - - 0.02 0.02 - <0. 02 - <0. 02
5o (mg/1) =0.8 - - <0.08 <0.08 - - <0.08 - <0.08
o i P P 5 S R TN e 1 =5 SR (mg/1) =10 2.7 4.1 4.1 4.2 3.78 1.4 1.9 2.9 2.1 2.08
o A P 22 3R (mg/1) - 0. 05 <0.05 <0. 05 <0. 05 0.05 <0.05 0. 06 <0. 05 0.07 0.06
il P M a5 (mg/1) - 2.7 4.1 4.1 4.2 3.78 1.4 1.9 2.9 2.1 2.08
L,4-P A FH (mg/1) =0.05 - = - - - - - - - -
T BT MEEEE (mg/1) - 0. 05 <0.04 0.06 <0.04 0.06 0.08 0.18 0.18 0.95 0.35




/EH/ \Hg

£

1T

AN 2 AEE

T KB AR A G 2R (8)

)4 551 155 2 7 ES JiL JI & J11

oKk H C % 6H17H | 104 1H | 12A47H [3H11H 4 6H17H |10d1H | 12H7H [3H11H Ty
£ K Z1) - 10:00 9:55 09:40 09:55 - 11:50 12:00 12:30 12:00 -
R A - - i3 = ki IS - i3 = IS I3 -
i B (m3/sec) - - - 0.016 - 0.016 - - IR R il
SR () - 23.8 18. 2 9.5 11.0 15.6 27.0 22.5 15. 1 14.5 19.8
KR (&) - 22.5 18. 1 10. 2 11.0 15.5 27. 1 22. 7 13. 1 16. 3 19.8
40 - - ME B IY] | MEf B | MEEEBIY] | MBI - 5Bl R H] % W R fa | A a5 1] -
B - = ug 53 g B g B I B - ug 53 g B g B g B -
75 15 (cm) - >100 >100 >100 >100 100 41 65 >080 90 69
p H - 6.5~8.5 8.1 8.1 8.1 8.1 8.1 7.9 7.6 7.7 8.1 7.8
A Wbl SE Bk & (BOD) (mg/1) =5 1.0 0.9 0.2 1.0 0.8 2.1 2.4 5.7 3.3 3.4
bRl S5 Bk & (COD) (mg/1) - 1.7 1.9 2.2 1.7 1.9 3. 7 5.7 6.3 6.8 5.6
rEE . (SS) (mg/1) =50 1 <1 <1 <1 3 14 3 1 3 5
B E (DO) (mg/1) =5 8.7 9.4 11.5 12. 1 10. 4 8.1 12.2 7.8 14.3 10. 6
PN A b (MPN/100m1) - - - 700 - 700 - - 1, 300 - 1, 300
N—~3 Y > fli ) B (mg/1) - <0.5 <0.5 0.5 0.5 0.5 <0.5 0.5 0.5 0.5 0.5
U > (T-P) (mg/1) - 0. 099 0. 086 0.081 0.084 0. 088 0. 096 0. 150 0.130 0.220 0.149
iRz (T-N) (mg/1) - 2.7 2.9 3.2 2.2 2.8 1.3 3.5 6.1 4.5 3.9
iR (mg/1) 0.03 - - <0.001 - <0.001 - - 0.002 — 0.002
) =)L T = ) —JL (mg/1) 0.002 - - <0. 00006 - <0. 00006 - - <0. 00006 - <0. 00006
e (mg/1) 0.05 - - 0.0017 - 0.002 - - 0.03 - 0.03
NN (mg/1) =0.003 - - <0. 0003 - <0. 0003 - - <0. 0003 - <0. 0003
e T (mg/1) B Sz Z & - - <0.1 - <0. 1 - - <0.1 - <0.1
& (mg/1) =0.01 - - <0. 005 - <0. 005 - - <0. 005 — <0. 005
A=A (mg/1) =0.05 - - <0.02 - <0.02 - - <0.02 - <0.02
Ttk & (mg/1) =0.01 - - <0. 005 - <0.005 - - <0. 005 - <0. 005
TR K ER (mg/1) =0.0005 - - <0. 0005 - <0. 0005 - - <0. 0005 - <0. 0005
7 JL X LK R (mg/1) M S e o & - - - - - - - - - -
PCB (mg/1) s & - - - - - - - - - —
AR (mg/1) =0.01 - — — — — — — — — —
F RS r7uoaxF L (mg/1) =0.01 - — — — — — — — — —
/A= R= S (mg/1) =0.02 - - - - - - - - - -
DY M Al e 2 (mg/1) =0.002 - - - - - - - - - -
1,2-YVZ7unax X (mg/1) =0.004 - - - - - - - - - -
Vil 2-vVrvma xS L (mg/1) =0.04 - = - = = - = - = =
L1-YZuwgxF L (mg/1) =0.1 - - - - - - - - - -
Ll,1-hVramx X (mg/1) =1 - - - - - - - - - -
1,1,2- Vo= (mg/1) =0.006 = = - - - - - - - -
1,3-YC 7 oo a2 (mg/1) =0.002 - - - - - - - - - -
FoZ UL (mg/1) =0.006 — - - - - — - - - -
=T (mg/1) =0.003 - - - - - - - - - -
FAX TN T (mg/1) =0.02 - - - - - - - - - -
N (mg/1) =0.01 - - - - - - - - - -
L (mg/1) =0.01 - - - - - - - - - -
EES (mg/1) =1 - <0.02 - <0.02 - - 0.02 — 0.02
5o (mg/1) =0.8 - - <0.08 - <0.08 - - <0.08 — <0. 08
oA P P S SR M OV Pl M e SR (mg/1) =10 2.4 2.9 3.1 2.1 2.63 1.0 2.7 3.6 2.0 2.3
A P A SR (mg/1) - <0.05 <0.05 <0.05 <0.05 0.05 <0.05 0. 20 0. 28 0.13 0.17
fii P M w5 (mg/1) - 2.4 2.9 3.1 2.1 2.63 0.99 2.5 3.4 1.9 2.2
1,4- A %Y (mg/1) =0.05 - - - - - - - - - -
T =T EEHE (mg/1) - 0. 08 <0.04 <0.04 0. 05 0. 07 0. 08 0.31 1.90 1. 80 1.02




TR
M

CT Mk

RN JCAR EE

Hb 2K R A A S

W A X Sy E A Ak foe B 1R A A

R AT HEL A TR = = = RG] vE & [ 85 5L
: HANL B8 AL v - — P p— - p— g g p— Pp—
PREE X 55 RHT HH T PRI EHF EHF EH
ERIKAE A SFICAFE10H | AFIJCHE10H | SRSt AE10H | At 10H | S FIScAE 108 | SRt 10 A
AR PR (mS/m) - 38 28 34 25 31 37
p H - 6.5~8.5 7.3 6.5 7.5 6.7 6.6 6.6
K L (°C) - 17.0 18.5 24.0 18.0 18.0 20.0
R - - 51, i 51, g 5. g 5. 4HE 5. 4HE 5.
P! - - i) ) g £5, e £5, e £5, I (7,
TR A (mg/1) =0.003 <0. 0003 <0. 0003 <0. 0003 - - -
BT (mg/1) B S haunz & <0.01 <0.01 <0.01 - - -
# (mg/1) =0.01 <0. 0005 <0. 0005 <0. 0005 - - -
aYiiZA=2N (mg/1) =0.05 <0.02 <0. 02 <0.02 - - -
Ttk 3% (mg/1) =0.01 <0. 0005 <0. 0005 <0. 0005 - - -
K R (mg/1) =0.0005 <0. 0005 <0. 0005 <0. 0005 - - -
7L LK ER (mg/1) B ERnRnI & - - - - - -
PCB (mg/1) B shznwo & <0. 0005 <0. 0005 <0. 0005 - - -
Trmm AR (mg/1) =0.02 <0. 0002 <0. 0002 <0. 0002 - - -
VU Ak 35 (mg/1) =0.002 <0. 0002 <0. 0002 <0. 0002 - - -
ramamF L (mg/1) =0.002 <0. 0002 <0. 0002 <0. 0002 - - -
1,2-Yrmuxy (mg/1) =0.004 <0. 0002 <0. 0002 <0. 0002 - - -
L,1-YZaaxF L (mg/1) =o0.1 <0. 0002 <0. 0002 <0. 0002 - - -
1,2-YZ7mma=x=F L (mg/1) =0.04 <0. 0004 <0. 0004 <0. 0004 - - -
1,1,I-hV X (mg/1) =1 <0. 0002 <0. 0002 <0. 0002 - - -
1,1,2-FU =g (mg/1) =0.006 <0. 0002 <0. 0002 <0. 0002 - - -
U= R=1 0 SR (mg/1) =0.01 <0. 0002 <0. 0002 <0. 0002 - - -
FhSrumz=F L (mg/1) =o0.01 <0. 0002 <0. 0002 <0. 0002 - - -
1,3-Yrmuara (mg/1) =0.002 <0. 0004 <0. 0004 <0. 0004 - - -
FF 7 A (mg/1) =0.006 <0. 0005 <0. 0005 <0. 0005 - - -
=T (mg/1) =0.003 <0. 0003 <0. 0003 <0. 0003 - - -
F AT NT (mg/1) =0.02 <0.0003 <0. 0003 <0. 0003 - - -
R ¥ (mg/1) =0.01 <0. 0002 <0. 0002 <0. 0002 - - -
L (mg/1) =0.01 <0. 0005 0. 0007 <0. 0005 - - -
LAY ek 22 58 M OV PR I 22 3R (mg/1) =10 5.4 4.9 5.1 6.6 8.9 8.3
5o T (mg/1) =0.8 <0.08 <0. 08 <0. 08 - - -
ESoI=S (mg/1) =1 0.024 0.019 0.01 - - -

1, 4= A XY > (mg/1) =0.05 <0. 005 <0. 005 <0. 005 - - -
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